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BAND ONE

Unit One
Passage 1

Tests conducted at the University of Pennsylvania’s Psy-
chological Laboratory showed that anger is one of the most dif-
ficult emotions to detect(¥& M) from facial expression. Profes-
sor Dallas E. Buzby confronted ($#24t) 716 students with pic-
tures of extremely angry persons, and ask them to identify the
emotion from the facial expression.Only two percent made cor-
rect judgememts. Anger was most frequently judged as
“pleased.” And a typical reaction of a student confronted with
the picture of a man who was(hoPping madjwas to classify his
expression as either “puzzled,” or simply “amazed.” Other stu-
dents showed that it is exfremely difficult to tell whether a man
is angry or not just by looking at his face. The investigators
found further that women are better at detcting anger from fa-
cial expression than men are. Paradoxically, they found that
psychological training dees not sharpen one’s ability to judge a
man’s emotions by his expressions but appears actually to hin-
der ($54) it. For in the university tests, the mote courses the
subject (B M A ) had taken in psychology, the poorer judg-
ment scores he turned in. »

1. The information in this passage centers aruound _ o
a.the relation between anger and other emotions

b.the differences between men and women with respect to e-
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motion
<the influence of psychology on perceptions
.f\“//d:)lhe detection of anger from facial expresion
2.The main idea of this passage is that anger _
.2/1s difficult to detect by looking at a person s face
b.is easier 10 be detected by women than by men
c.cannot be detected by a psychologically - trained per son
d.resembles bewilderment in its effects
3. When tested,students with psychological training
a. marked less than two percent of their possible choices cor-
rectly
b.did better than the average student in the group
\gj’seemed less able to judge correctly than the average stu-
dent
d.performed in a manner not specified in the passage
4. To achieve the greatest success in detecting anger from facial
expression,it would be best to
#-use adults rather than students as judges
_\bj/ask women in fields other than psychology to judge it
c.ask men rather than women to judge it
(d. be satisfied with a two percent success,if such a percent-
age is guaranteed

Passage 2
Every animal is a living radiator (B 1K) - - heat

formed in its cells is given off through its skin. Warm - blooded

animals maintain a steady temperature by constantly replacing
2




lost surface heat;smaller animals, which have more skin for ev-
ery ouhce of body weight, must produce heat faster than bigger
ones. Because smaller animals burn fuel faster, scientists say
they live faster.

The speed at which an animal lives is determined by mea-
suring the rate at which it uses oxygen. A chicken,for example,
uses one - half cubic centimeter (3. 77 JE K ) of oxygen every
hour for each gram it weighs. The tiny shrew (‘a small mouse
like animkal) uses four cubic centimeters of oxygen every hour
for each gram it weighs. Because it uses oxygen eight times as
fast,it is said that the mouselike shrew is living eight times as
fast as the chicken. The smallest of the warm - blooded
creatures, the humming - bird (% 5 ), lives a hundred times as
fast as an elephant.

There is a limit to how small a warm - blooded animsl can
be.A mammal{ " F.51Y) or bird that weighed only two and a
half grams would starve to death.It would burn up its food too
rapidly and would not be able to eat fast enough to supply more
fuel. -
1.The selection says that every animal is a living radiator be-

cause it i
a.produces heat in its body cells
b.burns fuel to produce heat
\g,/g/ives off heat through its skin
d.requires oxygen to produe heat

2. The speed at which an animal lives is determined by measur-
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g
a.the amount of food it eats
b.its body temperature
\&~the rate at which it uses oxygen
d.the amount of oxygen it uses
3. The amount of OXygeh an animal uses depends on
a.its body weight |
b.the food it eats
c.its general size and shape
:d/'the léngth of time it lives
4.An animal weighing less than 2.5 grams would starve be-
cause it would not be able to __
_(a:.}get enouhg oxygen
b.maintain its body temperature
c.burn its food fast enough
ti./eat fast enough to supply fuel
Passage 3
Mrs. Wilson, the middle - aged wife of a rich
~ businessman, invited some of her friends to lunch.She was try-
ing a new way of cooking a fish dish,and she was very pleased
with herself when the dish was ready . As the fish was very hot,
she put it near the open window 1o cool for a few minutes.
However,five minutes later, when she came back for it,she was
surprised to find the neighbour’ s cat, Chester, at the fish.
Fortunately,she was in time 1o stop the cat before it was too

late. That afterncon was a good success and everyone enjoyed
4



the dish very much. They talked and laughed till four o’ clock.
At the end of the afternoon, when she was alone again,
Mrs. Wilson felt tired but happy.She was sitting in a chair just
near the window when ,through the window ,she was surprised
to see the neighbour’s cat dead in her garden! Why, the fish
dish must be bad! What would happen to her friends? She at
once telephoned the family doctor for help. The doctor told her
to telephone each of the visitors to meet him at the hospital as
soon as possible. Finally the danger was over. Once again Mrs
Wilson was alone in her chair in the living room,still tired but
no longer happy. Just then the telephone rang. It was her
neighbour. “Oh, Millie, "her neighbour cried, “Chester is dead.
She was killed by someone in a car and put in your garden‘**”
1. Chester was a name given to
a.Mrs Wilson’s neighbour
.b-her neighbour’s cat
c.her neighbour’s boy
d.Mrs Wilson's cat
2. Chester didn’t eat up the fish simply because
a.she didn’t like it
b.the fish had a bad smell
c.the fish was too hot
\d;she‘ was stopped in time by Mrs Wilson
3. Her party ended
a.at four o’ clock in the afternoon

b.when it was getting dark



. before four o’ clock in the afternoon
d.late at night
4 .Seeing Chester dead in her garden,Mrs Wilson thought that

a.she had been killed by someone in a car
b.she had been killed by her neighbour
c.she had been killed by one of her friends
\é/"{he fish she had eaten was bad

5.How did Mrs Wilson know the truth finally?
a.she knew it from the doctor.
b.her neighbour came to tell her.

\%her neighbour told her on the telephone.
d.she read it in the newspaper.

Passage 4

The modern sailing ship was developed by a man who nev-
er went to sea. He was Prince Henry of Portugal, the younger
son of the Portuguese King and an English princess.

Prince Henry lived in the fifteenth century. As a boy he
became devoted to the sea ,and he dedicated himself to improv-
i'ng the design of ships and the methods of sailing them. In
1416, when he was twenty - two » Henry founded a school for
mariners,to which he invited everyone who could help him - -
Jewish astronomers, Italian and Spanish sailors,and Arab math-
ematicians and map makers who knew how to use the crude
compass of the day and could improve it. .

Henry’s goal was to design and equip vessels that would be
6
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capable of making long ocean voyages without having to hug(¥
iT )the shore. The caravel carried more sail and was longer and
slimmer than any ship then made, yet was tough enough to
withstand gales (# I # X\ ) at sea. He also developed the
carrack, which was a slower ship, but one that was capable of
carrying more cargo.

To Prince Henry the world owes credit for the develop-
ment of craft that made oceanic exploration possible. He lives in
history as Henry the Navigator.

1.Henry the Navigator was a member of the royal family of

a.England b.Spain
c. [taly J<Portugal

2. Prince Henry started his school for the purpose of _
\q/helping mariners
b.improving astronomy and mathematics
c¢.studying astronomy and mathematics
d.improving his own skill as a sailor
3.The teachers in Prince Henry s school seem to have been
a. members of royal family
-b,astronomers,sailors,and map makers
¢.shipbuilders

d.all of the above

4. Prince Henry s goal was to design vessels thai could
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aymake long deep ~ sea voyages
b.travel faster than those in use at that time
c.explore the coastline of Portugal
d.carry large crews and more cargo than existing ones
5. Compared with his caravel,Henry’s carrack was o -
a.longer and slimmer
b.able 10 carry more sails
c.gble to carry more cargo

d.shorter
Passage 5

I was being tested for a driving licence for the third time.
I had been asked to drive in heavy traffic and had done so
successfully . After having been instructed to drive out of town,
I began 1o acquire confidence.Sure that I had passed.l was al-
most beginning to enjoy my test. The examiner must have been
pleased with my performance, for he smiled and said ,“Just one
more thing , Mr. Eames. Let us suppose that a child suddenly
crosses the road in front of you,as soon as I tap on the window.
I want the car to be stopped immediately. "I continued driving
and after sometime, the examiner tapped loudly. Though the
sound could be heard clearly, it toock me a long time to react.
suddenly pressed the brake pedal hard and we were thrown
forward. The examiner looked at me sadly.” Mr. Eames,” he
said,in a mournful voice, you’ ve just killed that child.”
1. When the driver was asked to drive out of town he began to
feel confident because
8



a.he was being tested for the third time
b.he was driving away from the heavy traffic

c¢.he had done wonderfully well in driving through the heavy

traffic
2. He was beginning to enjoy his test because
a.he was now in the open country
b.he was sure that he had passed
c.he had a feeling that the examiner was agreeable
3. The examiner smiled at him,so he thought that the ex amin-
er
a. was satisfied with what he had done so far
b. was going to be more pleasant with him
c. was feeling used
4.When the exanimer tapped loudly on the window, the driver
a.pressed the brake pedal hard immediately
b.failed to stop the car at the signal
c.heard the-tapping only a long time later
5.850 we can well imagine that in the end the driver
" a.must have been arrested for having killed a child
b.must have failed in the test
c. must have damaged his car badly
Unit Two
Passage 1

Have you ever tried to hold your breath for a long time and
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then let it out slowly? This is one of the techniques of an an-
cient Indian discipline known as YOga(ﬁiﬁJﬂ) . For thousands of
years, people have used Yoga to help search for happiness and
contentment.

Students of Yoga often study for as long as 20 years before
becoming masters,or Yogis. They learn many different physical
exercises. These exercises are designed to put the students in
good physical condition. Then they can concentrate on deep reli-
gious thoughts without worrying about physical discomforts.

Many Yoga exercises involve putting the body into difficult
positions. Some of them are very hard to learn. Have you ever
tried to fold your legs over one another? This is one of the basic
Yoga positions. It is callled the lotus(ﬁ?ﬁ)position. Most peo-
ple find it difficult to stay in that position for even a few
minutes. But Yogis train themselves to remain in the lotus posi-
tion for hours or even days. They are taught to overcome the
physical discomfort of holding these positions. Other exercise
and rules teach concentration(%.(») . Yogis feel this is the key
to finding inner peace. This kind of concentration is called med-
itation (48 .

Yogis and many other people practice meditation. They
claim that it makes them feel relaxed and peaceful. Some people
say that it makes them feel better just as good exercise does. But
other people claim that it is a way of achieving a strong religious
feeling .

The word Yoga itself comes form an ancient Sanskrit( %t
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